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It acquired it for him — Y% noT

OVERVIEW

Our mwn states that if a person saw a wounded deer on his property and said
*TWw °2 101, he acquires it; however if a (healthy) deer was running through
his property and he said 7w °2 7027, he does not acquire it. One might think
that in order to acquire the wounded deer it is necessary to verbalize % ;ino7
*7w, otherwise he is not 71p. Our MdOIN rejects this notion.
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It is the view of NM»01n that even though the owner of the field did not say,
‘it acquired it for me’, nevertheless his field acquires the XX for him.

modoIn proves his point that verbalizing is not necessary:
— 1597 SN NN NY 93 2IPTT 1939 PPN ON (3, 91 DIYD 1379INTD
As the X3 stated previously, ‘if the 3329 instituted that 078 W nnR '7

acquire for him, so what of it if he did not say, ‘I wish to acquire it through Pip
nmX '77’; indicating that it is not necessary to verbalize the intent to be 1P (with a
specific 1°1p).

Mmoo anticipates a difficulty:
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And one cannot say, that there (by the mnX '7) the reason he does not have
to verbalize is because he fell upon it, indicating his intent that he wants
to acquire it -
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However here by -xr1 11> who will say that he wants to acquire it,
therefore in this case it is necessary to verbalize 77w °7 7027 —

mooin refutes this reasoning:
— 2PN 99N NYT 2) DY 4N 290 NP D) KDY INT DYDY ynwn Na9INY

For on the contrary it is implied previously in that X723 that had he not
fallen on the 7X°x» he would certainly acquire it and even if he did not
say ‘I will acquire it’.> Here too it is not necessary to verbalize *7w *> 7.

' MooIn maintains if 777K is not necessary by Ny '7 (as the cited X723 indicates) which is an extension of
7x71, then 7% (also) does not require 77°MR. See “Thinking it over’ #2.

% The X3 there initially said he is not P through nmK ', since he did not say *1px. The X723 responded
since it is a 1"pn that NMX '7 is AP it is irrelevant that he did not say *1pX (proving N1201N point that 772K is
not necessary). The X3 explained that since he fell on it he was ny7 723 that he does not want the '7 PIp
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mooin offers an additional proof that it is not necessary to say 7w 2 n3r:
— Ny XY 1Y NP DTN Y NN NINN 5292 Y017 229 9INRT N

And an additional proof; for n''92 %"9 ruled that a person’s yard

acquires for him (even) without his knowledge -
— 999 NN K97 22 9y 9N ‘NN

It is evident that it acquires for him even if he did not say, ‘acquire’.

The question arises why does our 7wn state, ‘he said > 7nor’
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And here the 71w» mentions that he said *? 7021 because of the x2°9, that
there even if he said *% 7not he does not acquire the 7%°%» since the animal
is running naturally.

SUMMARY
A 2xn can be nnp for its owner even if he did not say >7w °2 1nor.

THINKING IT OVER

1. What are the reasons to differentiate between N1aX '7 1°Ip and nAANWHT X
as opposed to NNwn A1RW X7 (that the former require no 77X while the
latter does)’ and what are the reasons to equate them?°

2. Can we infer from this m»do1n regarding "ninx "7 11p; whether it must be
“nnwn or not?®

nnR. We cannot assume that when the X713 responded that saying *1pX is not necessary, the X713 meant that
it is not necessary only because he fell on it, for the X731 explains that falling is a hindrance to the 1p. It
would be difficult to assume that the one who argued that saying *I1pX is irrelevant maintains that falling
helps nwX '7 1°1p, and the other maintains that falling is a hindrance for X '7 1°1p, for then they would be at
two opposite extremes. Rather it is more likely to assume that initially the X7 maintained that falling is
neutral, proving therefore that 77X is not necessary. The 813 concluded that 79°01 is not neutral but rather
it is detrimental to N1MXR '7 1Ip. [See *2¥ 1XA.] See (n"w aw3a) 7> MR 7510 for an alternate explanation.

? The case of the mwn (where he said * 7n21) is by a nannwn» arRw 20 (and he was standing 7w 7%2), the
ruling of 1"2" is by a nMNWNA 7X¥n; nevertheless N1©OIN maintains (in this second proof) that there is no
difference between a nannwni 7xn and a nanwn ArRY 180 (if he is 17%2 W), regarding saying °2 fnor. See;
X" M (here), 7w 0" ,X"w1In and mw MR °"92. See ‘Thinking it over’ # 1.

*1f it is without his knowledge he certainly did not say *> 7nr.

> See footnote # 3.

% See 1"PR # 6 TN

7 See footnote # 1.

® See 1"nx # 18.
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